Station i Graphing Quadrati

1. y=x*-2 Table Graph
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4, y = %xz +x+2 Table Graph
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5. y=-3x>—6x+5 Table Grap
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Station it Answer Key
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4 y=-x*+x+2 Table Graph
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o The vertex shouid be (-, 81l
o The axis of symmetiry should be x = -i.
o The graph should be shifted 2 units to the lefi!



Station 2: Solving Quadratics (Level 2 & )

Level 2
Solve each equation by finding square roots. If the equation has no real number solution, write no solution.
1. x2416=0 2. =x2-3=0
3
3. x24+45=5 4, x2+25=0

Solve the system of equations.

y=x2+2x+1 y=3x+4 y=x*

7 y=x+1 Ty =—x*+4 y=x+2



Solve each equation by finding square roots. If the equation has no real number solution, write no solution.

Level 2
1. x*4+16=0
No solution
3. x2+5=5
x=0
5. =x2—-3=-1
x= 12

Solve the system of equations.

y=x*+2x+1

/- y=x+1

(0,1) or(-1,0)

y=3x+4
Cy=—x2+4
(01 4) or (_3f -5)

2.

Station 2: Answer Key

x>=3=0
x= 13
x2+25=0
No solution
4x? =25
X = i;

y=x’
y=x+2
(21 4) or (_1/ 1)



Station 3: Solve by Factoring

Solve using the zero-product property. Show your work!!

1. 2x—10)3x—2)=0 2. 3x+9)(2x—-15)=0 3. 2x(5x+2)=0

Solve by factoring. Show your work!!

4. x> +7x+12=0 5. x2 —=5x+4=0 6. 2x2 +5x—3=0

7. 2x%2—9x =x%-20 8. 5x%=10x 9. x2-49=0



Station 3: Answer Key

Solve using the zero-product property. Show your work!!
1. 2x—10)3x—2)=0 2. 3x+9)(2x—-15)=0 3. 2x(5x+2)=0

2 2
x=50rx=§ x=-3orx=7.5 x=00rx:—§

Solve by factoring. Show your work!!

4. x*4+7x+12=0 5. x2 —5x+4=0 6. 2x% 4+5x—3=0
x=-3 orx=—4 x=4orx=1 x=%orx=—3
7. 2x%2—9x =x%-20 8. 5x%=10x 9. x2-49=0

XxX=4orx=5 x=0orx=2 x=7o0orx=-7



Station U: Quadratic Formula

Solve each equation using the quadratic formula. Show your work!!! Round answers to the nearest hundredth.

1. 4x%*+3x—-8=0 2. 2x2—-3x=20 3. —x*24+8x+4=5

4. 64x%*+12x—-1=0 5 x24+4x=1 6. 12x%+16x = 28



Station ¥: Answer Key

Solve each equation using the quadratic formula. Show your work!!! Round answers to the nearest hundredth.

1. 4x>+3x—8=0 2. 2x%?—3x =20 3. —x>+8x+4=5
x~1.09 orx =~ —1.84 x=4orx=-2.5 x=~0.13 orx = 7.87
4. 64x%*+12x—-1=0 5 x24+4x=1 6. 12x%+16x = 28

1 1 1
x—ﬁ orx——z x=~0.24 orx = —4.24 x—lorx——2§



